

טכניקה אלטרנטיבית

מתחיל קו בין הביטויים שווים

$2x^5 - x^3 + 2x^2 - 1$	☐	☐	$(x^2 - 1)(2x^2 - 2)$
$x^6 + 2x^5 + x^2 + 2x$	☐	☐	$(x^4 + 1)(2x + x^2)$
$2x^4 + 6x^3 + x^2 + 3x$	☐	☐	$(x^3 - 1)(2 + x^2)$
$x^5 + 2x^3 - x^2 - 2$	☐	☐	$(2x^2 + 1)(x^2 + 3x)$
$2x^4 - 4x^2 + 2$	☐	☐	$(x^3 + 1)(2x^2 - 1)$

פרק אלטרנטיבי

א. $7a + 7b = \square (\square)$	ב. $8ab - 3a = \square (\square)$
ג. $15x - 23 = \square (\square)$	ד. $24a - 18b + 13c = \square (\square)$
ה. $6y^2 - 5xy + 12y = \square (\square)$	ו. $17a^3 + 7ab^2 - 7ca^2 = \square (\square)$
ז. $x + x^2 + x^3 + x^4 = \square (\square)$	